1.

P4 —4x - 18 = 2(5 - 6x) — 3 ©|F5to] ax = b9 BRE VHL
o, a - b2 g Fatodel. (F, a2t bE 229 AAS)

a'ﬁia—bzi



oS 4] F AT A Rl AL?
@ 3x+6-3x @ 2+1=-x
® 2x-1=3(x-1)-x @ x+x2+3=2x2

® x+x2+1=x



@ 2 ® 3 @ 4 ® 5

1



@ f(-2)=8 ® f(0)=0

@ f(1) = -4

0 /(3)-4

0 s(8)



5.  AABC 9] Al 9] Hx7F Z+2F A(3, 2), B(3, 6), C(=2, 0) & o,
AABC 9] Hol&?

@ 5 @ 10 ® 13 @ 20 ® 40



o

s
)
ol
]
s
v
s
-
o
i
ol
_ZT- o~
> B
o o
N T
=
Wy
o T
Lo
< ®
o~ H
A
T
< |
i
2 5
~ -
<H T

N,
>

(5,0)|x

(2,4)

0,4)

3@ 12 @ 13 ® 14

11

D 10



7.  FHFEHEH O Al H A(3,5),B(-3,1),C(0,-1) 2 =A< AABC 9]

Hole?

O 12 @ 9 @ 8 @ 6 ® 3



@ 20 ® 22 @ 24 ® 26

O 18



9.

FEPH 9o A H A(-1,1),B(1,0),C(2,3) & &
AABC 9] Hlo]=?

@ @

DO | Ot
©
[NRIEN|
—
—

| W



10.

o2 I3 ol Al A A2, 4),B(-1, 1), C(4, -1) S FAHPe=
Sl= AABC 9] Hol=?

yA |
Al2. D)
(11 \
B \
\\\\
A
0 c<4|,—|1)
3
@ 9 @ 10 o= @ 11 ® 3



a—c¢

12

11

@ 3

@ 4

O 2



12. o574 Eo

i)
o,
ofx
ol
a1
1o
ox
i
B

oth] 7k ARgE 32?

ONQ) @ ©

3x+8=-10
3r=—18
T=—6

® ©

@06 0006



w‘mle

UL
el
m BT
alcIR
T
Jﬂ%ﬂoo_e
A
‘,%,_NE;O
R
ﬂmoﬂw.___oo
QM,#
SE
3o Y
aoélT
ﬂﬁﬂl.ﬂ
pr_j@u
EONE
SAT
i)
8 ny
17rw_eo_
,O|7E&.
ST
ﬂmqo.
el
‘LILO)A
o4 Hr miw
)

1m

//

1m






offl AL Sh B 49 18 Y, LML 20 Q AT Atk AA
ge Bo] go] Ug ok, B B2 497 4L o, A gL 2
H7E R BHe 42 Bolrb 2 ek Sk o] A& st
o A9 v Bt ASHFETN

O 3¢ @ 5¢ ® 7¢ @ 10¥ ® 149



) =
otk B 7F EAHA 2 AI%F 59t AT ) A 9 B 7F ) x A7 B
SAahA Qe mHTE ek, x o T Aoz g AL

16. A 7} 24 QshH 3 A7k, B 7F £244] ohd 7 Al7bo] Al o]
Qls 7 fe)

2 (1 1>

x4z )x=1 14 =1
®7>< s tz)x @ 14+ (3+7)x
2 1 1 2

2 1 1

- _ _ =1

©7+<3+7)x



17. p A2 A8E SHYSOIA ¢ AFY o] FRHY » A7
w9kt of o, Shgel

(thr<q,p>0,9g>0,r>0)

—-r —-r -
®PrP 'y @ 17" o ® P 9oy
q P r
r— r —
@ ~P ®—1q

q p



18. o] A2l 77} ¢, Aol A2l 247} b, Bo] A2l 2747} a A
AA%E 402 ERR?

®a+b+c @ 100a + 10b + ¢
1 1

1 1 —b+ —

@ a+ 10b + 100c @c+10b+100a

1 1
@ a+T0b+ﬁc



19. o2 5 -0.06x = 0.3(0.7x + 1.8) 2] S5 a 2t T W, 2a + 1 ] 3|7}

A
x x—-3
@5— 5 =1 @ 0.5x-0.8=0.3(x+2)
2 3 1
®X+7—0 @§X+i—ﬁ
@x—77x—2

6 3



@ 1 ® 2

® 0



21.

e TRe ATE B BE o 2 1% Swolth 4

nug = o BaelA 1014 A2tg A 09 Wols 2 sheln
sk o], A8 L o] A7) Aolg Fatolat,

Mo

.18 cm.
A = ~a

14cm @) (B




O x+1<3 O 3x-2=

® 3-(x-3)=6-x ® 2(x-1)=2x-2

@ xXx=2x

@ 1 7 @ 2 7l ® 3 7 @ 4 7N ® 5 7




& 2rs] ot ax+b L W, a+b 9] g2 F-5Holet,



24.

oFg A 5x2 - x4 6 9 GO A4S a

2} 3 0, g - be 9] WL Foholat,

D S
=%



25.

AA x°C = 3 §x+32 °F ojct. 3HX] 104 °F = A4 222 dut

A7}

@® 30°C @ 40°C ® 50°C @ 60°C ® 70°C



